# On the functional equation f(x+y)+g(xy)=h(x)+h(y)

By GYULA MAKSA (Debrecen)

## 1. Introduction

The following problem is due to Professor Z. DARÓCZY (see [1]). Let  $\mathbf{R}$  denote the set of real numbers and let  $\mathbf{R}_+ = \{x | x \in \mathbf{R}, x > 0\}$ . Find all continuous functions  $f, g, h: \mathbf{R}_+ \to \mathbf{R}$  satisfying f(x+y)+g(xy)=h(x)+h(y) for all  $x, y \in \mathbf{R}_+$ . This equation has been discussed under other assumptions too (see [2], [3]), but its general solution on  $\mathbf{R}_+$  has not been found. The purpose of this paper is to give the general solution of the above mentioned equation on  $\mathbf{R}_+$ .

First, we shall solve the following problem:

A. Find all functions  $f: \mathbb{R}_+ \to \mathbb{R}$  satisfying

(1) 
$$f(x+\alpha y) - f(x+\alpha) - f(\alpha y+1) = f(y+\alpha x) - f(y+\alpha) - f(\alpha x+1)$$

for all  $x, y, \alpha \in \mathbb{R}_+$ .

With the help of the solution of Problem A. we can easily give the solution of our original problem which can be formulated as follows:

B. Find all functions  $f, g, h: \mathbb{R}_+ \to \mathbb{R}$  satisfying

$$(2) f(x+y)+g(xy) = h(x)+h(y)$$

for all  $x, y \in \mathbf{R}_+$ .

#### 2. Problem A.

The following theorem will be important in view of the solution of Problem A.

Theorem 1. Let

$$f: \mathbf{R}_+ \to \mathbf{R}, \quad H: \mathbf{R}_+ \times \mathbf{R}_+ \to \mathbf{R}, \quad T: \mathbf{R}_+ \to \mathbf{R}$$

satisfy the equations

(a) 
$$f(x+y)-f(x) = H(x, y)+T(y)$$
  $(x, y \in \mathbb{R}_+)$ 

(b) 
$$H(x+y,z) = H(x,z) + H(y,z) \quad (x,y,z \in \mathbb{R}_+).$$

Then there exist

$$D: \mathbf{R}_+ \times \mathbf{R}_+ \to \mathbf{R}, \quad B: \mathbf{R}_+ \to \mathbf{R}, \quad C \in \mathbf{R}$$

such that

(c) 
$$D(x, y) = D(y, x) \quad (x, y \in \mathbb{R}_+)$$

(d) 
$$D(x+y,z) = D(x,z) + D(y,z) \quad (x, y, z \in \mathbf{R}_+)$$

(e) 
$$B(x+y) = B(x) + B(y) \quad (x, y \in \mathbf{R}_+)$$

$$f(x) = D(x,x) + B(x) + C \quad (x \in \mathbf{R}_+).$$

PROOF. Let

$$F(x, y) = f(x+y) - f(x) - f(y)$$
  $(x, y \in \mathbb{R}_+).$ 

Since F is an additive deviation (see [4]) and by (a) we have

$$F(x, y) = H(x, y) + T(y) - f(y)$$
  $(x, y \in \mathbb{R}_+)$ 

therefore

$$H(x+y,z)+H(x,y)+T(y)-f(y) = H(x,y+z)+T(y+z)-f(y+z)+H(y,z).$$

According to (b) it follows that

(3) 
$$H(x, y) + H(x, z) + T(y) - f(y) = H(x, y+z) + T(y+z) - f(y+z)$$
  $(x, y, z \in \mathbb{R}_+)$ .

After interchanging y and z in (3) we can see that

$$T(y)-f(y) = T(z)-f(z) \quad (y, z \in \mathbf{R}_+)$$

and so there exists  $C \in \mathbb{R}$  such that

(4) 
$$T(y) = f(y) - C \quad (y \in \mathbf{R}_+).$$

It implies that

(a') 
$$f(x+y)-f(x)-f(y)+C = H(x,y) \quad (x,y \in \mathbb{R}_+).$$

Let now

$$D(x, y) = \frac{1}{2}H(x, y)$$
 and  $B(x) = \frac{1}{2}[4f(x)-f(2x)-3C]$   $(x, y \in \mathbb{R}_+).$ 

Then — by (a') — we get (c), furthermore (b) implies (d). Using (a') and the properties of D we obtain (e) and (f).

We remark that the converse of Theorem 1. is also true.

Investigating equation (1) we obtain the following result:

**Theorem 2.** Let  $f: \mathbb{R}_+ \to \mathbb{R}$  be a solution of (1) and let  $\alpha \in \mathbb{R}_+$  be fixed, moreover let

$$m_{\alpha} = \max \{-1 - \alpha - \alpha^2, -2 - \alpha\}, D_{\alpha} = \{(u, v) | (u, v) \in \mathbb{R}^2, u > -1, v > -\alpha\}$$

$$F_{\alpha}(u) = f(u+1+\alpha+\alpha^2) - f(u+2+\alpha) \quad (u \in ]m_{\alpha}, \infty[).$$

Then

(5) 
$$F_{\sigma}(y+t) + F_{\sigma}(0) = F_{\sigma}(y) + F_{\sigma}(t)$$

holds for all  $(y, t) \in D_a$ .

PROOF. Let

(6) 
$$x\tilde{\alpha}y = f(x+\alpha y) - f(x+\alpha) - f(\alpha y+1) \quad (x, y \in \mathbf{R}_+).$$

A simple calculation shows that

(1') 
$$x\tilde{\alpha}y = y\tilde{\alpha}x \quad (x, y \in \mathbf{R}_+)$$

$$\left(\frac{t}{\alpha}+1+\alpha\right)\tilde{\alpha}(y+1)+\left(\frac{t}{\alpha}+1\right)\tilde{\alpha}2=\left(\frac{t}{\alpha}+1\right)\tilde{\alpha}(y+2)+(1+\alpha)\tilde{\alpha}(y+1)\quad ((y,t)\in D_{\alpha}).$$
(7)

Hence.

$$(y+1)\tilde{\alpha}\left(\frac{t}{\alpha}+1+\alpha\right)+2\tilde{\alpha}\left(\frac{t}{\alpha}+1\right)=(y+2)\tilde{\alpha}\left(\frac{t}{\alpha}+1\right)+(y+1)\tilde{\alpha}(1+\alpha)\quad ((y,t)\in D_{\alpha}).$$

By (6) and the definition of  $F_{\alpha}$ , this implies that (5) holds for all  $(y, t) \in D_{\alpha}$ . Now we use an extension theorem (see [5]) and we get the following result:

**Theorem 3.** Let  $f: \mathbb{R}_+ \to \mathbb{R}$  be a solution of (1) and let  $\beta \in \mathbb{R}_+$  be fixed. Then there exist functions  $L_{\beta}$ ,  $T: \mathbb{R}_+ \to \mathbb{R}$  such that

(8) 
$$L_{\beta}(u+v) = L_{\beta}(u) + L_{\beta}(v) \quad (u, v \in \mathbf{R}_{+})$$

and

$$f(u+\beta)-f(u) = L_{\beta}(u)+T(\beta) \quad (u \in \mathbf{R}_{+}).$$

PROOF. Let

$$L_{\boldsymbol{\beta}}(t) = F_{\sqrt{\boldsymbol{\beta}+1}}(t) - F_{\sqrt{\boldsymbol{\beta}+1}}(0) \quad (t \in ]m_{\sqrt{\boldsymbol{\beta}+1}}, \infty[).$$

Then — applying Theorem 2. — from (5) we obtain (8). It is known by [5] that there exists one and only one function  $\bar{L}_{\beta}$ :  $\mathbf{R} \rightarrow \mathbf{R}$  such that

$$\bar{L}_{\beta}(u+v) = \bar{L}_{\beta}(u) + \bar{L}_{\beta}(v) \quad (u, v \in \mathbf{R})$$

and

$$L_{\beta}(u) = L_{\beta}(u) \quad (u \in ]m_{\sqrt{\beta+1}}, \infty[).$$

Let

$$T(t) = \overline{L}_t(-2 - \sqrt{t+1}) + F_{\sqrt{t+1}}(0) \quad (t \in \mathbb{R}_+).$$

If  $u \in \mathbb{R}_+$  then  $u-2-\sqrt{\beta+1} \in ]m_{\sqrt{\beta+1}}$ ,  $\infty[$ , therefore

$$L_{\beta}(u) + T(\beta) = \overline{L}_{\beta}(u) + \overline{L}_{\beta}(-2 - \sqrt{\beta + 1}) + F_{\gamma \beta + 1}(0) =$$

$$= \overline{L}_{\beta}(u - 2 - \sqrt{\beta + 1}) + F_{\gamma \beta + 1}(0) =$$

$$= L_{\beta}(u - 2 - \sqrt{\beta + 1}) + F_{\gamma \beta + 1}(0) =$$

$$= F_{\gamma \beta + 1}(u - 2 - \sqrt{\beta + 1}) = f(u + \beta) - f(u).$$

28 Gy. Maksa

Theorem 3. allows to apply Theorem 1. and so we get the following result as the solution of Problem A.

**Theorem 4.** Let  $f: \mathbb{R}_+ \to \mathbb{R}$  be a solution of (1). Then there exist additive functions  $A, B: \mathbb{R}_+ \to \mathbb{R}$  and  $C \in \mathbb{R}$  such that

(9) 
$$f(x) = A(x^2) + B(x) + C \quad (x \in \mathbf{R}_+).$$

PROOF. Let T and  $L_{\beta}$  be as in Theorem 3. and let  $H(x, y) = L_{y}(x)$   $(x, y) \in \mathbb{R}_{+}$ . Then f, T and H satisfy (a) and (b) in Theorem 1. Thus there exist

$$D: \mathbf{R}_{+} \times \mathbf{R}_{+} \to \mathbf{R}, \quad B: \mathbf{R}_{+} \to \mathbf{R}, \quad C \in \mathbf{R}$$

with the properties (c)-(f). By (f) we obtain from (1)

(10) 
$$D(x,\alpha y) - D(x,\alpha) - D(\alpha y,1) = D(\alpha x,y) - D(\alpha,y) - D(\alpha x,1) \quad (x,y,\alpha \in \mathbf{R}_+).$$

If we write x+1 instead of x in (10) and use the properties of D we obtain

$$D(x, \alpha y) - D(x, \alpha) = D(\alpha x, y) - D(\alpha x, 1) \quad (x, y, \alpha \in \mathbf{R}_+).$$

Combining this equation and (10) we get

(11) 
$$D(\alpha y, 1) = D(\alpha, y) \quad (\alpha, y \in \mathbf{R}_+).$$

Let A(t) = D(t, 1),  $(t \in \mathbb{R}_+)$ , then — by (11) — we obtain (9). We remark that the converse of Theorem 4. is also true.

#### 3. Problem B.

The following theorem gives the solution of Problem B.

Theorem 5. Let  $(f, g, h): \mathbf{R}_+ \to \mathbf{R}^3$  be a solution of (2). Then there exist additive functions  $A, B: \mathbf{R}_+ \to \mathbf{R}$  and  $\varphi: \mathbf{R}_+ \to \mathbf{R}$  with the property  $\varphi(xy) = \varphi(x) + \varphi(y)$ ,  $(x, y \in \mathbf{R}_+)$  and  $C, C_1, C_2 \in \mathbf{R}$  such that

(i) 
$$f(x) = A(x^2) + B(x) + C \quad (x \in \mathbf{R}_+)$$

(ii) 
$$g(x) = \varphi(x) - 2A(x) + C_1 \quad (x \in \mathbb{R}_+)$$

(iii) 
$$h(x) = A(x^2) + B(x) + \varphi(x) + C_2 \quad (x \in \mathbb{R}_+).$$

PROOF. Putting y=1 in (2), we obtain

(12) 
$$h(x) = f(x+1) + g(x) - h(1) \quad (x \in \mathbf{R}_+).$$

Thus (2) can be written in the form

(13) 
$$f(x+y)-f(x+1)-f(y+1) = g(x)+g(y)-g(xy)-2h(1)$$
  $(x, y \in \mathbb{R}_+)$ .

By [4], it is known that the right hand side of (13) is a multiplicative deviation and so we have (1). According to Theorem 4. (9) implies (i). Using (13) and (i) we get

(14) 
$$2A(xy)-2A(x)-2A(y)-2A(1)-2B(1)+2h(1)=g(x)+g(y)-g(xy)+C$$
.

Let 
$$C_1 = 2[h(1) - A(1) - B(1)] - C$$
 and

(15) 
$$\varphi(x) = g(x) + 2A(x) - C_1 \quad (x \in \mathbb{R}_+).$$

Then (14) implies that  $\varphi(xy) = \varphi(x) + \varphi(y)$  holds for all  $x, y \in \mathbb{R}_+$  and by (15) we obtain (ii). Finally, let  $C_2 = \frac{C + C_1}{2}$ . Then (12) implies (iii).

We remark that if  $C+C_1=2C_2$  then the converse of Theorem 5. is also true.

## 4. Remark

The equations

$$A(x) = \frac{1}{2} [h(x) - f(x) - g(x)] + \frac{C + C_1 - C_2}{2} \quad (x \in \mathbb{R}_+)$$

$$\varphi(x) = h(x) - f(x) + C - C_2 \quad (x \in \mathbb{R}_+)$$

derived from (i), (ii) and (iii) show that if the functions f, g and h have some analytic property on a certain subset of  $\mathbf{R}_+$  then — usually — the functions A and  $\varphi$  also have the same property. For example, if the functions f, g and h are continuous at the point  $x, (x \in \mathbb{R}_+)$  or measurable on a certain measurable subset E of positive measure of  $\mathbf{R}_+$  then both functions A and  $\varphi$  are continuous at x or measurable on E, respectively. Thus there exist  $\alpha, \gamma \in \mathbb{R}$  such that  $A(x) = \alpha x, \varphi(x) = \gamma \ln x$ for all  $x \in \mathbb{R}_+$ , moreover by (i) there exists  $\beta \in \mathbb{R}$  such that  $B(x) = \beta x$  for all  $x \in \mathbb{R}_+$ . In these cases, of course

$$f(x) = \alpha x^2 + \beta x + C$$
  

$$g(x) = \gamma \ln x - 2\alpha x + C_1$$
  

$$h(x) = \alpha x^2 + \beta x + \gamma \ln x + C_2$$

for all  $x \in \mathbb{R}_+$ .

The author would like to thank Professor Z. Daróczy for all his help.

### References

- [1] Z. DARÓCZY, Problem 5. in meeting in memory of Schweitzer, 1969, Matematikai Lapok 21 (1970), 150—152.
- [2] I. ECSEDI, Az f(x+y)-f(x)-f(y)=g(xy) függvényegyenletről, *Matematikai Lapok* 21 (1970), 369—374.
- [3] K. Lajkó, Special multiplicative deviations, Publ. Math. (Debrecen), 21 (1974), 39—45.
  [4] BORGE JESSEN, JORGEN KARPF and ANDERS THORUP, Some functional equations in groups and rings, Math. Scand. 22 (1968), 257-265.
- [5] Z. DARÓCZY und L. LOSONCZI, Über die Eirweiterung der auf einer Punktmenge additiven Funktionen, Publ. Math. (Debrecen), 14 (1967), 239-245.

GYULA MAKSA UNIVERSITY OF LAJOS KOSSUTH DEPARTMENT OF MATHEMATICS H-4010 DEBRECEN HUNGARY

(Received July 22, 1974.)